CHINMAYA ACADEMY FOR CIVIL SERVICES
Practise Questions

Economic Survey and Budget — Special Focus to TN

1. Assertion (A): Tamil Nadu is the second largest economy in India.
Reason (R): It contributes 9.21% to India’s national GDP in 2023-24.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

gammi (A): SOLLHBHTGH @b wmeller @ reorLmeug QUi QUITIHETTSTLOMS 2_6TeTSl.
STIewrid (R): @) 51 2023-24 9yLh 91,600T19.6V @\ HH W melledr GHAW QOMSS 2 6THTLGH 2-MHuUSHullev 9.21%
Ui gefl&E&R msl.

a) A lnMHmILd R @uevor(pib &ifl, Inmmild R eTedTLIG A @) 6ot Fifliment eflemd:asLnmEGLD.

b) A LnMMILD R @ Tetor(hild &ifl, 94,60TMeV R eTedTLIG A @) 6ot Fifliment eflemd: oD S{6v6v.

c) A &1fl, 9L60TIT6V R Seuml.

d) A Beumi, speormev R &Fifl.

. Consider the following statements:
. Tamil Nadu’s GSDP growth rate for 2023-24 was 13.71% at current prices.
. Tamil Nadu aims to become a one-trillion-dollar economy by 2030.
. The services sector contributes 33.37% to Tamil Nadu’s GSVA in 2023-24.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 3 only
LS 6dTeU(BLD SaM MIGEMEIT 86601886 LD:
1. sUPBILGET QLTSS WTHIV 2 6THTLH 2MHUSH) eueTTFF eSS 2023-24 YLD 1,600TL9.60
SMHCLMems W eflemeugerlev 13.71% 948 QBHSSI.
SOLDBHTH 2030 YD 31,600T(H & &6 62 (5 L9[f160VEOIWIGHT LTV QUIMIBETMTSTTLIONS LTINS
CHMTHSEIONSGES G & TeuoT(H 6TeTs.
CrFemeus Slenm 2023-24 Sl I,600TL460 SLALDIHITLLG.60T QLOMSS MBIV WHLIL] Sal H)&56016V 33.37%
ungefl&E&S msl.
CLM&600TL. FaM MG 6rfl6L eTemeu &l WmeuTemeu?

a) 1 LmmILd 2 L (HILD b) 2 LoMmib 3 LG o) 1wL@LD d) 1 iommith 3 (LD

3. Assertion (A): Tamil Nadu leads India in the number of factories.
Reason (R): The state had approximately 39,700 factories in 2022-23.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.
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c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): sOLBTGO @hSH wWmeilev QG TLEMEFTen6va6rfleir eTevoTevol&6m&E UL (WNHOIL GGV 2 6Temgl.
STI6uurld (R): 2022-23 QLD 9Y,600TL4.60 LOMBlLS B 6V GSHITFTWLOMS 39,700 Q& T MF TV 6T @) (HIH S 60T.
a) A LnMmiLd R @esor(id &ifl, InHmih R eTedTLIG A @)6dT S iflulmeot eleng: &M@ LD.

b) A lDMMID R @Tevor(GILD Fifl, 21,6076V R eT6dTLIGI A @)6dT SFiflwimeot ellemasasLD 21606V.

o) A &1fl, 9L60TIM6V R Seuml.

d) A Seumi, SLeoTmev R &Fifl.

4. Consider the following statements:
1. Tamil Nadu is the second most urbanized state in India.
2. Tamil Nadu’s per capita income ranks fourth among Indian states in 2023-24.
3. The state has the lowest infant mortality rate in India.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 only d1,2,and 3
L 6dTeU(BLD FanM MIG6MEIT 8660188 6]LD:
SUILBTEO @hHSWmalléy @ FeuoTLTeus SIS GI0MS HSTINWIMTSSLILILL IOMFBIeVTES 2 6TeTSl.
2023-24 9LlD 1,600TL.60 SHLALDIBITL19.60T &6vflHLIT eu(HLOMeuTLD @)\hS) W DM BlevmIGerfley [HITeiTas: meugl
BLSH 6L 2 6Temgl.
@\Hs LMElevlh @B WmeileL WN&HE GmMbhS GLPHems @MLIL] N HHs 8 G & mevor(h 6Temgi.
Gl M & 600TL. S M MIG6rTl6L eTemeu &F W meoTem6u?

a) 1 lnmmiLd 2 L (HLD b) 2 IoMmMmith 3 ol ()LD ¢) 1L @I d) 1,2 moin 3

5. Assertion (A): Tamil Nadu’s economic growth is more aligned with global trends than
India’s overall growth.

Reason (R): The state’s economy is highly resilient to global economic fluctuations.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): SOLDBTLLLET QUITIHETTSTT 6UueTTEF @\ HH W melleir L HOIMSHS eueTFeFFenw el

2 _eusemmelll GLIMTE (&8 @EHL 60T &0 @) 606007 [H SI6TeTSl.

STJevuTLD (R): LDMBleVE B 6OT QLIMTIHETTSITID 2 6v&eTmelllW QUITIHETISTT M @MESHEISGEHE G LO&e] LD
QB DFFR WIMeTSI.

a) A lnmmild R @uesor(Hid &1fl, Inmmild R eTedTLIG A @) 6ot Fifliment eflemd:asLnmE L.

b) A lnMHMIh R @Tevor(ID &Fifl, 21,6076V R eTadT LIS A @)6dT SFiflulment eNlemg:asLn 606v.

o) A &1fl, 9u,60TmeL R Seumi.
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d) A Baumi, shL,eoTmeV R &Fifl.

. Consider the following statements:
. Tamil Nadu’s average CPI inflation from 2019-20 to 2024-25 was 5.8%.
. The state assigns a lower weight to food and beverages in its CPI basket compared to
the all-India average.
. Tamil Nadu’s retail inflation in 2023-24 was the lowest among all Indian states.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 only d1,2,and 3
LS 6tTeU(BLD FaM MIG6MEIT 8660188 6]LD:
1. 2019-20 (PGS 6L 2024-25 euen T SLOLDBILI6T FFmEl] HSFETT eflemevd GMIUT G LsvoreissID 5.8%
345 QBHSS!-
LOMEleVlh G 60T BISTCUT eflemevd GMIUTL B FaemLUll6L 2 6v0TeY LOMHMILD LITEOTBIS 6158 & @) IH S W
grmflenw el &6emmeUITer 6TenL 60 5185 &GH M.
2023-24 9Llh L600TL.60 SLAILDIBITL19.60T FleLevemm Licvorefd &0 @) bW melleir 9| emeurs Sl
wrElevrseflauib &S Ganmeuns @ (HhHSSl.
GO M&600TL. FaM MG 6rTl6L eTemeu &l WITeuTem6U?

a) 1 lnmmiLd 2 Ll (HLD b) 2 LnMmmith 3 ()LD o) 1L @b

7. Assertion (A): Inflation in Tamil Nadu is influenced by high labor costs.

Reason (R): The state’s CPI basket assigns a higher weight to labor-intensive services.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Famml (A): SOILDBTL L6 LeooTais & 2 WThS QS MSeUTeTT Q&FeUey&eTTev LTS &SGOG MmSI.
&TIeuurld (R): LOMBlevs 6t BI&STCaUMT eflemeuds GMIUTLI96L QG TISlLMETT-&F MY CFMUSHEHE S B &
WEH WS seuld ol6efl&EH M.

a) A LnHmiLd R @resor(d &ifl, InHmih R eTedTLIG A @)6dT Siflulmeot ellemg: &L mELD.

b) A lnMHMID R @ Tesor(QD &ifl, 94,6016V R eTadTLIG A @)6dT &iflulmest elemgsasLh 2i606v.

o) A &1fl, 9u,60Tmev R Heumi.

d) A Baumi, sLeoTmeV R &Fifl.

8. Consider the following statements:

1. Fuel and light inflation in Tamil Nadu was higher than the national average in 2021-22.

2. The Union Government reduced the price of domestic LPG cylinders by 3200 in
September 2023.
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3. Food inflation in Tamil Nadu surged to 7.4% in 2023-24.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
LS 6dTeU(BLD FanM MIG6MEIT &6u6uT18 86 LD:
2021-22 94lh SL,600TL.60 SLALDBITL L6V T QUG 6T IMmmilh eerfl Liewreigsb G5 W srmaflenw eflL
SIB&IMS QGHSS!-
LSHW S|J&H QFLILLDLIT 2023 @6 2 6THITLH vl & el ecvorL 78 6rfleir eflemevemiu T200 G 6MmM 5 S Sl
2023-24 9ulD S1600TL.60 SLOILDIBITL L6V 2_600T6Y LI6uuTa & &0 7.4% 94,8 2 W HSSI.
GLOM&6U0TL. S M MIG6TTl6VL 6TSI/6Temeu S IflWmeoTemeu?

a) 1 MM 2 L (HLD b) 2 LnMMith 3 ()LD ¢) 1 wmmib 3 Gl d) 1,2, lommib 3

9. Assertion (A): Tamil Nadu’s rural inflation is higher than the national average.
Reason (R): The state’s consumption basket has a higher share of services.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): SOIDBITLIQ6T S rmulym Ueorefssih CHFW Frmeflenw el S|H&I0Ms 2 6iTegl.
&TI6uurlD (R): LOMBl6V S B 60T B T6 CFemeusserfledr LIMIE G &HI0ME 2 6TeTgl.

a) A lnMHmILd R @uevor(ib &ifl, InmmILd R eTedTLIG A @)6dT Fifliment eXlemd a0 mEGLD.

b) A lnMHmMID R @ Tesor(Qh &1fl, 46076V R 6TedT LIS A @)6dT SFiflulimeot elengasLh 21606v.

o) A &1fl, 9u60TmeL R SHeumi.

d) A Beumi, speormev R &ifl.

10. Consider the following statements:

1. Tamil Nadu’s Universal Public Distribution System covers 2.25 crore families.

2. The state provides 100 units of free electricity to domestic consumers.

3. Core inflation in Tamil Nadu was lower than the national average in 2023-24.

Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2,and 3
LSl 6tTeU(HLD Fa D M8 EMEIT 861601886 LD:

1. sUUPBTLGET 2 eusarmeallw QuUmsl eNFICW TS 6oLl 2.25 G&ITLY. & (H)LDLIMISem6T 2 6T6TL. & & W Sl.
2. WMElevd 2 6TBTL{M BI&ETCMTIHEE 100 Weofll @ eveus WETEFMISHemS eULDEIEG&R M.

3. 2023-24 9ylb L600TIq60 SLALDBITL L6V emnw Lietorefs s CHA W FrnEflenw el Gemmeuns E\(HhSSl.
CLMH&600TL. Fa M MIG6TTl6L eTemeu &Il WITeuTem6U?

a) 1 mmid 2 (KD b) 2 lnmmith 3 L (HILD ¢ 1 MM 3 I HILD d) 1,2, InMmoiLh 3
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11. Assertion (A): Agriculture in Tamil Nadu is highly dependent on monsoons.
Reason (R): The state utilizes 75% of its water resources for agriculture.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): SLOLPHTLLG60 CEUETITEOTENLD LI(HeUnempenl QUIflSIh FmiyhHSleTens.
&TIewrid (R): LOMBleULD IS 60T BT 6u6rTmkIgerfléL 75% GoUETTEITemn& @ LIW TGS SIS MSI.
a) A LnMmild R @ gesor(d &ifl, Inmmih R eTedTLIG A @)6dT Fifluimeot elleng:&10mELD.

b) A LnMMILD R @ Tetor(hild &Fifl, 94,60TMeL R eTedTLIG A @ 60T Fifliment eflemd:asLn 3{6v6v.

o) A &1fl, 9L,60TIM6V R Seuml.

d) A Baumi, speormev R &Fifl.

12. Consider the following statements:

1. Tamil Nadu ranks first in India for the productivity of oilseeds and sugarcane.

2. The net sown area in Tamil Nadu constitutes 36.5% of its total geographical area.

3. About 80% of the net sown area in Tamil Nadu is irrigated.

Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only

L 6dTeU(BLD FnM MIG6MEIT 866011885 6]LD:

1. sUhBTH @\HH Wmellev erevorQ evorl 698 51858 6T L0MHMIWD SIHWLL 2 MHUSS GBS Meuflev (&L &5 6L
2_eiTengl.

2. SUODBTLIG6 eflens&aLIULL BIGT LUFLL ST Qumss Lefllulwe Lrlifey 36.5% 91,8 2_6TeTgl.

3. sUIBILIGE aflensssLILLL BI&T LTLULN6 &My 80% LIMFTL QFWW LGS MmS.

Gl M&600TL. S M MIG6rTl6L eTemeu FHlWmeoTem6u?

a) 1 lnmmiLd 2 (LD b) 2 LnMmmith 3 ()LD o 1L @ d) 1 iommith 2 ()b

13. Assertion (A): Tamil Nadu leads India in agricultural credit disbursed by commercial
banks.

Reason (R): In 2023-24, commercial banks disbursed 33,57,805 crore to farmers.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fgammi (A): SO HBTGH E\hSH wmelley auevllas 6umkiS &e6TTeL ULPMIGSLILIHILD CeU6TTeuor &L 60fl6L (& 69L& 5 6L
2 _6iTengl.

STIeorld (R): 2023-24 9y LD 9Y,600T19.6V 6U600T1 S eumIS & 6T efleusmuil s @n s & ¥3,57,805 G&ITLY. 6ULD IS 6T,
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a) A lnMHmILd R @ pevor(mb &ifl, nmmild R etedTLIG A @) 6ot SFifluimeot elemdasLnm@G L.
b) A LDMMID R @Tevor(ILD FIfl, 21,60TM6V R eT6dTLIGI A @)6dT SFiflwlmeot ellemgsasLD 21606V.
o) A &ifl, 9460760 R SHeuml.

d) A euml, ayeormeu R Fifl.

14. Consider the following statements:
. Paddy production in Tamil Nadu was 70.48 lakh tonnes in 2023-24.
. The area under organic farming in Tamil Nadu increased to 34,000 hectares in 2023-
24.
. Tamil Nadu ranks second in milk production in India.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only
LS etTeU(BLD FaM MIG6MEIT 8660188 6]LD:
2023-24 9Llh L6006V SLALDBITLI96V QIH6L 2 MLIGH) 70.48 UL FLD L6OTSHETTSH @) (HHS .
2023-24 9Llh 9L600TL9.60 SLAILDBITL 196V SHIfl0 GeUeTTeuuTemnng @ 2L LIL L LIFLIL] 34,000 Qam&CLT 9418
2 WIHSS!
SLBTEO @BHH wmeilev LML 2 MGG ulleh @)\ TesiTL Meug @)L & Hev 2 6Tengl.
GO M&600TL. FaM MG 6rfl6L eTemeu &l W TeuTem6U?

a) 1 LmMILD 2 L (HILD b) 2 LMMID 3 L (LD o) 1wL@L d) 1 mmib 2 L ()LD

15. Assertion (A): Tamil Nadu has the highest number of registered organic farmers in
India.

Reason (R): The number of registered organic farmers doubled from 2019-20 to 2023-24.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

gammi (A): sOLBTEH @S wmelléy e G\ sWmer LS e QeFwwlul L sl efleusmuilseaners
Q& meuoT(h 6ITET .

&TIeuorld (R): 2019-20 (NS 6L 2023-24 eueny LGey QFwWw Ll L s&ifln efleusmullserflesT 6Tevorevotd: em &
QUL LUTSHWSI.

a) A InMHmILd R @uevor(mb &ifl, inmmild R eTedaTLIG A @) 6ot Fifluimeot eflemdasLnm@G L.

b) A LnMMILh R @ Tevor(hild &Fifl, 1,60TM6L R eTadTLIGI A @ 60T Fifliment eflemd:as1D 3(606v.

o) A &1fl, 9L60TIT6V R Heuml.

d) A eumi, gLeTmev R &Fifl.

16. Consider the following statements:
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1. Tamil Nadu has the highest number of factories in India, with 39,666 in 2024-25.
2. The state ranks second in invested capital, next to Gujarat.
3. Tamil Nadu’s industrial sector contributes 11.34% to India’s industrial GVA.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
LS 6tTeU(BLD FaM MIG6MET 8660188 6]LD:
1. sUlbBTH QHHWTel W& 9 H&WMTeT QS THMHETM6EVEm6TS 68 Teuor{H 6iTemgl, 2024-25 1D
S1,600T19.6V 39,666 Q& ITL M & TEM6VE: 6T 2_6ITEIT6rT.
WsS0H AFLWLILLL gpusarsSe GRNMEH NG B S8 @UeairLmaug @L5H e sublhpmE
2 eiTengl.
SUILBILIg6T QaTSlsugienm @hHwmallar Qamlsugienm QLSS H LI Fal HH6e96v 11.34%
ungefl&E&S msl.
GO M&600TL. FaM MG 6rTl6L eTemeu &l WITeuTem6U?

a) 1 lnmmILd 2 L (HLD b) 2 LnMmMith 3 ()LD ¢ 1 wmmib 3 @Gl

17. Assertion (A): Tamil Nadu ranks third in merchandise exports in India.

Reason (R): The state’s merchandise export value increased to $51.89 billion in 2024-25.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): sOLHBTEH @\hS wmellev QLITIHL&6T gMmInTHullev epeirmmel g @\L &6V 2_aTeTgl.
&ITT6uuTLD (R): 2024-25 9y, L0 9,600TL.6V LOMBl6LES B 60T QLIMTIHL 86T 6 M MIS) LG LIL] 51.89 L9660l w edT
LMeuJMs 2 WiIhHS Sl

a) A LnMHmiLd R @ resor(id &ifl, InmHmith R eTedTLIG A @)6dr Siflulmeor eleng: &L m@EGLD.

b) A lnMHMID R @ Tesor(GD &ifl, Qu,60Tmev R eTadTLIG A @)6dT &iflulmeot elemg:asLh 2606v.

o) A &1fl, 91,6016V R HeUmI.

d) A Haumi, ohL,eoTmeV R &Fifl.

18. Consider the following statements:

1. Tamil Nadu’s manufacturing sector grew at 8.33% from 2021-22 to 2023-24.

2. The state ranks sixth in FDI inflows in 2024-25.

3. Tamil Nadu has the highest number of Udyam-registered MSMEs in India.
Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only
LSl 6tTeU(H LD Fa D M8 EMEIT & 61601886 LD:

1. sUPBTLIGET 2. HUSSS Semm 2021-22 (0 G6L 2023-24 Uen T 8.33% eUeTTFF WL [HS5SI.
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2. OMEleULD 2024-25 YLD 1,600TI460 SIHBIW CHTLY WHSLD urailey Symmeug Q)L &S 6L 2 6iTerngl.
3. sUlbpT@® @hHwmaille) 2 &wb-LUGey QFWWLULL &M, P10 uHoin FHSS5T Qg mlcserfleu
WHNOLGH6L 2 6iTengl.
CLM&H600TL. FaM MG 6rfl6L eTemeu &Il WITeoTem6U?

a) 1 lnmmILd 2 L (HILD b) 2 LnMMith 3 (LD ¢ 1 L (b d) 1 lnmmith 2 ()b

19. Assertion (A): Tamil Nadu’s mining sector saw increased revenue from 2019-20 to
2023-24.

Reason (R): Limestone production increased significantly during this period.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): SLOIDBTL Q6T &TMEIGHS Slenm 2019-20 (NS 6V 2023-24 60T QUIHEUITII 2 WITeM6UE &600TL Gl.
&TI6uurlD (R): @\HS SHMeVEL L& H)6V & 600T6U0T TIDL| &8 60 2. MLIG S &6vol1&F0Ms: 2 WTHS S

a) A lnMHmILd R @uevor(id &ifl, Inmmild R eTedTLIG A @) 6ot Fifliment eXlemd:asLnmEGLD.

b) A LnMHMID R @ TesorGID &Fifl, 94,6076V R eTadT LIS A @)6dT &iflulmest eNlemg:asLh 606v.

o) A &1fl, 960TTeL R Seumi.

d) A Beumi, speormev R &Fifl.

20. Consider the following statements:
. Tamil Nadu Global Investors Meet 2024 secured investment commitments of 36.64 lakh
crore.
. The state’s industrial policy aims to improve ease of doing business.
. The construction sector grew at 5.92% from 2019-20 to 2023-24.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only
L 6dTeU(BLD SanM MIGEMEIT 86601886 LD:
1. sUOILBTH 2-evseTmallw WSS LTeTT&6T InMHBT{H 2024 )6V T6.64 VL&D C&HITLY (NS6SLH
2 MK QALTHEm6TL QUbHMSI.
LTEleVE H 6T QS TLHIL Q& TEATMS 6U6U&e Q&FWEULITL 6T erearflemineniu GO LIB S SIeUen s
CHMT&H&HEIMNSGES C&Meuor(H6TaTSl.
3. &L@mars Slemm 2019-20 (N6 2023-24 euemIy 5.92% eueTT&FT W6nLHS Sl.
CLMH&600TL. Fa M MIG6TTl6L eTemeu &Il WITeuTem6U?

a) 1 lnmmiLd 2 (LD b) 2 (nmmith 3 ()LD o 1L @ d) 1 inmmith 2 ()L
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21. Assertion (A): Tamil Nadu’s services sector contributes 53.63% to the state’s GSVA in
2023-24.

Reason (R): The sector includes IT, tourism, and financial services.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): SOLDHTL LT CFemeus Flemm 2023-24 LD II,600TLL60 LOMTHlEVE B 60T QDTS S WOMHlev LDGLIL]
Tl [ &6916V 53.63% LIIG6Tl&E&H M.

&Tyewrid (R): @56 Senmuiley 56160 QASMTHELFHILLID, &HHMIEUT LMHMILD BIHEF CFemeuss 6T L MIGLD.
a) A LnMmILd R @esor(d &ifl, InHmih R eTedTLIG A @)6dT S iflulmeot eleng: &M@ LD.

b) A LnMHMID R @ Tesor(GID &Fifl, u,60TmMev R eTadTLIG A @)6dT &iflulment eNlemg:asLh 606v.

o) A &1fl, 9L60TmeL R Seumi.

d) A Seumi, SLeoTmev R &Fifl.

22. Consider the following statements:

1. Tamil Nadu ranks fourth in software services exports in India.

2. The state’s renewable energy capacity is 20,724 MW in 2023-24.

3. Chennai Metro Rail’s operational length was 45 km in 2023-24.

Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only
LS etTeU(BLD FaM MG 6MEIT 8660188 6]LD:

1. sUlhBTH @HHWTallé) QLETALITHET CFamaus6T M mIG Ul HTEaTHTUS @)L &BH 6V 2 6Tengl.
2. MBS 6T USHULNNESESHES MM HMeiT 2023-24 LD 31,600T19.60 20,724 QOGS TEUTL. 48 2_6TETSI.
3. Q&aTemerr QLLGHT Fuilleder QFWeLLITL® Hermih 2023-24 91D S),600TL.6V 45 G185 94,5 @\ (BHS .
CLOM&600TL. FaM MG 6rfl6L eTemeu &l WITeoTemeu?

a) 1 LmMILD 2 L (HILD b) 2 LMMID 3 LG ¢ 1wL@L d) 1 mmih 2 ()LD

23. Assertion (A): Tamil Nadu’s credit-deposit ratio increased to 117.7% in 2023-24.
Reason (R): The state ranks high in financial inclusion.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Faml (A): SLONLDIBITLL.60T HL6T-emeuLliL] eGS0 2023-24 LD 3L,600TIQ60 117.7% 948 2 WTHS S
&TIeuurld (R): LOMBl6VLD BIH 2 6TeML&&55 G 6V (W eiTeollemevuiley 2 6iTemgl.

a) A lnmmild R @uesor(Hid &ifl, Inmmilh R eTedTLIG A @) 6ot Fifliment ellemd:as1nmE L.
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b) A LnMHMIh R @ Tesor(Ib &Fifl, 46076V R eTadT LIS A @)6dT &iflulment eNlemgasLn 606v.
o) A &1fl, 9L60TIT6V R Seuml.
d) A Seumi, gLeoTmev R &Fifl.

24. Consider the following statements:

1. Tamil Nadu’s airports handled 27.4 million passengers in 2023-24.

2. The state’s service-based MSMEs grew to 24.88 lakh in 2024-25.

3. Diesel consumption decreased from 2019-20 to 2023-24.

Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only

LS 6dTeU(BLD FanM MIG6MEIT &66uT18 86 LD:

1. SWOLPBITLL960T 69 LOITEOT [BleM6V I BIG 6T 2023-24 94LD 16007160 27.4 LOl6L6SIWIEHT LI 6001 & emertss
60) &5 LLI IT60OT L_60T.
LMEleVE Heir CFemeu jIqLiLiemLuleumeoT G mI, F1mi LHMID FHISST QS TH6LEET 2024-25 9L 1D
31,600TL9.6V 24.88 QUL FLOME 6UGITITIH 5 60T.

3. 2019-20 (1pSH6L 2023-24 UM LLF6L BI&HT6] GOMMIHSSI.

GO M&600TL. FaM MG 6rfl6L eTemeu &l WITeuTem6U?

a) 1 lnmmILd 2 L (HLD b) 2 LnMmMith 3 ()LD o) 1L @b d) 1 iommith 2 ()b

25. Assertion (A): Tamil Nadu’s tourism sector has significant untapped potential.
Reason (R): The state has UNESCO world heritage sites and religious destinations.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

FaMml (A): SLONDBITLLLET & MHMIeVTS Slemmuilev &eoollFInmenT LIWeTURSSLILILITS S Me6iT 2 6Temsl.
&Tyeoorld (R): LOMHBIEVEH L W R 6TEVCSHIT 2 68 LITTLUIfW &6ThISS6T LMMIWD G &MHMIGVTS & 6ITEI& 6T
2_eiTeITeur.

a) A LnMHmiLd R @resor(id &ifl, InHmih R eTedTLIG A @)6dT Siflulmeot elem&: &L mELD.

b) A lnMHMID R @ Tesor(QID &ifl, Qu,60TTev R eTedTLIG A @)6dT Siflulmeot elemg:asLh 2606v.

) A &1fl, 94,6016V R Heuml.

d) A Baumi, sL,eoTmeV R &Fifl.

26. Consider the following statements:
1. Tamil Nadu’s Labour Force Participation Rate (LFPR) was 64.6% in 2023-24.
2. The state’s unemployment rate was higher than the national average in 2023-24.

3. Female LFPR in Tamil Nadu increased from 40.2% to 43.2% from 2019-20 to 2023-24.
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Which of the above statements is/are correct?
a) 1 and 3 only b) 2 and 3 only c) 1 only d) 1 and 2 only
LS 6tTeU(BLD FaM MIG6MEIT 86601886 LD:
SO BITLIg6T Qe mSleumeny LUKIGCHML] eGSO (LFPR) 2023-24 94D 9),600TL9.6V 64.6% 94,8 @\ (BHSSI.
2023-24 9Llh 1,600TLY.6V LOITHl6VE B 6T GauemevullciTemin a1 B0 CHA W erm&flenw el JH &M
QAGH5s
SOLHBITL 1960 Quetorserfledr Qg mtleumeny LMBICHML el SHLh 2019-20 (LN S6V 2023-24 cuemiy 40.2%
@60 BIH S 43.2% 315 2 WTHS .
GLOM&600TL. FaM MG 6rTl6L eTemeu &l WITeuTem6U?

a) 1 lnmmILd 3 L (HLD b) 2 LnMMith 3 ()LD o) 1 L (b d) 1 iommith 2 ()L

27. Assertion (A): Tamil Nadu has a higher share of regular wage workers than the national
average.

Reason (R): 34.4% of Tamil Nadu’s workforce is in regular wage/salaried positions.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): SOIDBITLIG6 CHFAW FrrEflenwl el 9S8 LIMKIG 6UpSESI0MeT 2erG W g G Gl 6u ey & 6T
2_6iT6ImeuTIy.

&TIewrd (R): SLOLDHBITLLY60T QS mSleumeTiTaerfley 34.4% 6ULN & &LOMTEOT 2er G WD/ FLDLI6T LG e & erflev
2_6IT6ImeuTIy.

a) A lnmmILd R @uevor(mib &ifl, Inmmild R eTedTLIS A @6t Fifluiment eXlemd&sLnm&LD.

b) A lnMMIh R @Tevor(hID &Fifl, 21,6076V R TadTLIGI A @)6dT SFiflulment elemgasLn 2606v.

o) A &1fl, 96016V R HeUm.

d) A Beumi, speormev R &ifl.

28. Consider the following statements:
. Tamil Nadu’s factory employment increased to 22.83 lakh in 2022-23.
. The state’s EPFO membership increased from 2.9 crore to 3.5 crore from 2019-20 to
2022-23.
. The old-age dependency ratio is expected to decrease by 2036.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only
LS etTeU(BLD S MIG6MEIT &6U6uTl8 86 LD:

1. sUPBILGET QSTMHEFTmev CouemeueumUILIL] 2022-23 YLD 31,600TL9.6V 22.83 UL FLOMS 2 WITHSS.
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2. OMBlevs B 6T 2erSIWIF 6U(HMEISTeV emeuLlL] B1S) (EPFO) 2 mi LN euri] eTevoTeonrl&:emas 2019-20 (LDGH6L 2022-23

euemiy 2.9 CaHMQUIEN(BIHSI 3.5 CHTIQIMTE 2 WHHSSI.
3. 2036 9Ylh Le0T(H &G ET LB CWTT FriY eNFE LD (GemMULD 6T6oT THTUMTTSESLULGE MSI.
CLM&H600TL. FaM MG 6rfl6L eTemeu &Il WITeoTem6U?

a) 1 lnmmILd 2 L (HILD b) 2 LnMMith 3 (LD ¢ 1 L (b d) 1 lnmmith 2 ()b

29. Assertion (A): Tamil Nadu’s youth LFPR declined from 2019-20 to 2023-24.
Reason (R): Rising enrolment in higher education contributed to this decline.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

gammi (A): SLOLDHTLLY6T @ 6emeTehT Qg mtlevmeT LMBICHML] eSS LD (LFPR) 2019-20 (10560 2023-24 6Uen) [T
SODHSS.

&TIeorid (R): 2wy &evell CEFJ&emns B &f5585 QHSHSH GenMes S LnG6allSHs5sl.

a) A lnMHmILd R @uevor(id &ifl, Inmmild R eTedTLIG A @) 6ot Fifliment eXlemd:asLnmEGLD.

b) A LnMHMID R @ TesorGID &Fifl, 94,6076V R eTadT LIS A @)6dT &iflulmest eNlemg:asLh 606v.

o) A &1fl, 960TTeL R Seumi.

d) A Beumi, speormev R &Fifl.

30. Consider the following statements:

1. 41.1% of Tamil Nadu’s rural workforce is engaged in agriculture.

2. The state’s urban workforce in manufacturing is 21.7%.

3. Tamil Nadu’s female youth LFPR increased from 2019-20 to 2023-24.

Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only

LS 6tTeU(BLD FaM MG 6MEIT 86601886 LD:

1. sUAlpBILgeET Syrulym asmbleumerisserey 41.1% Ceuermetoremlouilev FFH\LIL (B 6Temeuriy.

2. rBlevsseT BETLLM gmtemearisetley 2 mUSH S sienmuilev 21.7% 2_6Temeor(y.

3. sUOIDBTLLY60T QLI60oT @)6m6mehT Q& mSlevmery LMBGCH ML 691G LD 2019-20 (1560 2023-24 6uen T
2 WiHSSI

CLOM&600TL. FaM MG 6rfl6L eTemeu &l WITeuTemeu?

a) 1 lmmILd 2 L (HILD b) 2 LoMmib 3 LG o) 1wL@LD d) 1 iommith 2 ()LD

31. Assertion (A): Tamil Nadu ranks first in the Social Progress Index (SPI).
Reason (R): The state scored highest in the opportunity dimension in 2022.

a) Both A and R are true, and R is the correct explanation of A.
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b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

gammi (A): SOIDHBTEH Fens (PaTCarmme GMIUTL 196V (SPI) WNHILSB6L 2_dTerTsl.

STI6uurlDd (R): 2022 9yLh 9,600T19.6V SLADEBTEH eumilliLef& @ Lflinmeors Sl ev 9§ & LeTerflsemerLl
QUMM nedrenflemeuulev 2 eiTerg.

a) A LnMmild R @ resor(pd &ifl, InmmIh R eTedTLIG A @)6dT Fifluimeot eleng:&10mELD.

b) A LnMHmMIh R @Tesor(GIh &Fifl, 46076V R eTadT LIS A @)6dT Siflulment elemgasLn 60V6v.

o) A &1fl, 9u60TTeL R Seumi.

d) A Baumi, spLeormev R &Fifl.

32. Consider the following statements:
1. Tamil Nadu’s social sector expenditure increased by 8.81% from 2019-20 to 2023-24.
2. The state ranks second in the Human Development Index (HDI) among major states.
3. The Chief Minister’s Breakfast Scheme improved school attendance to 93%.
Which of the above statements is/are correct?
a) 1 and 3 only b) 2 and 3 only c) 1 only d) 1 and 2 only
LS etTeU(BLD FaM MG 6MEIT &66uT18 86 LD:

ST Q60T FeNGS Slenm QFeuea] 2019-20 (LNS6L 2023-24 eueniy 8.81% 2 WFTHS G-

SUILBTE Wweflg CULLML® GSMIUSLI96V (HDI) (&S W oMBlevk s erflév @) FevorLmeugl @) L& 5 6v

2 _eiTengl.

WSV &F& 6T &Temev 2_600TeY S G L LD LiciTerl au(Hensenl 93% 31,85 5 &5 5 51.
CLOM&600TL. FaM MG 6rfl6L eTemeu &l WITeuTem6U?

a) 1 LmMILD 3 L (HILD b) 2 LoMMID 3 L (LD o) 1wL@L d) 1 lnmmith 2 ()LD

33. Assertion (A): Tamil Nadu has the second-lowest multidimensional poverty headcount
ratio in India.

Reason (R): The state’s HCR is surpassed only by Kerala.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): sOILLBTGH @hS wmeliley @) FevoTLMeugl G enmibhs LIeuLIFILOMeuor &eollBLIT 6T600T6u01 8560 8
NRG G5 G S Q& TeroTHIETETSI.

&TIeuorld (R): LOMBlevs et HCR &2 Ga e DL HIGL WlEh &R M SI.

a) A lnMHmILd R @pevor(mb &ifl, inmmild R eTedaTLIG A @) 6ot Fifluimeot eflemdasLnmEG L.

b) A lnMHMIh R @Tevor(hd &Fifl, 21,6076V R eTadT LIS A @)6dT &iflulment elemgaLh 606v.
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o) A &1fl, 9u60Tmev R Seumi.
d) A Seumi, gLeoTmev R &Fifl.

34. Consider the following statements:

1. Tamil Nadu’s GER in higher education is 47% in 2021-22.

2. The state has 506 engineering colleges in 2023-24.

3. The Pudhumai Penn Scheme increased female college enrolment by 6.9% in 2022-23.
Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
LS 6tTeU(BLD FaM MIG6MEIT 8660188 6]LD:

1. SUOIPBTLIg6T 2w sevelulléy QMEs LS e e& gD (GER) 2021-22 94LD L,600TL.6V 47% 4,8 @\ (BHS 5.
2. OMBlevES6v 2023-24 LD 9,600T19.6V 506 QLITMIudiwev sevsurniflaeT 2 6Termeor.

3. LsuemnLll Q6T HILL LD 2022-23 LD I1,600TL.60 G LIevorS6fledr Seuaunifl LIS emeu 6.9% 2 WSS W Sl.
CLOM&600TL. FaM MG 6rfl6L eTemeu &l WITeuTem6u?

a) 1 mmid 2 (KD b) 2 lnmmith 3 L (HILD ©) 1 MmMID 3 L (HILD d) 1, 2, InMmoiLh 3

35. Assertion (A): Tamil Nadu has the largest government-run tertiary healthcare system
in India.

Reason (R): The state has 36 medical college hospitals with a bed capacity of 65,046.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

gammi (A): sOLBTEH @S wmelley s IauFlw 978 HLESSLILIGLD CPETMITLD Blemev L0 ([HS S6u Ll
ugmwiflliy el s Q& meuor{H 6TeTgl.

&Tyeuorid (R): LOMBleVSH6L 36 LO(HS SI6us &evNifl L0(H S S16LLD 60 6OTS: 6T 2_6iT6IT6T, @) 6m6u 65,046

L0 & 6m & & erfl 6T Hmemeurds Q)& mevor(h) 6T6IT6or.

a) A LnHmiLd R @resor(d &ifl, InHmih R eTedTLIG A @)6dT Siflulmeot ellemg: &L mELD.

b) A lnMHMID R @ Tesor(GD &ifl, QU,60TTev R eTadTLIGI A @)6dT &iflulmest elemgsasLh 2606v.

) A &1fl, 946016V R Heuml.

d) A Baumi, sLeoTmeV R &Fifl.

36. Consider the following statements:
1. Tamil Nadu’s forest cover increased to 26,450 sq. km in 2023.
2. The state’s mean temperature increased by 0.68°C per century.

3. Chennai’s air quality was satisfactory starting from 2019.
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Which of the above statements is/are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d1,2,and 3
LS 6tTeU(BLD FaM MIG6MEIT 86601886 LD:

1. SWOIPBITLIg60T &STH & 6rfledr LITLIL] 2023 94LD SI,600TL4.6V 26,450 51T B).15 91,85 2 WTHS S

2. wrBlevsSer & QeuliLBléney @H BIMMTeoT(H &S 0.68°C 2 WTHS S.

3. 2019 156V QFeTemeuTudl 6T &MTHN 6T HTLD HBHLIS HFOME Q(BHSSI.

CLM&600TL. FaM MG 6rfleL eTemeu &Il WITeoTem6U?

a) 1 lnmmiLd 2 Ll (HLb b) 2 (nmmith 3 ()LD c) 1 wmoin 3 Il @Gl d) 1,2, oMo 3

37. Assertion (A): Tamil Nadu ranks first in the SDG 13 Index for climate action.
Reason (R): The state scored 81, significantly higher than the national average of 67.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

gammi (A): SOLPHTEH LIIHUBIem6v [HL6ULY& 608 &8 TeT SDG 13 GMIUTLL6L (1n5 60L& B6L 2 6TerTs.
&Tyewrd (R): SOLDHITH 81 LG LIGQLIEITSHmETL QUMHMS, @5 C&F W srmeflwmer 67 2 el &eufl&Fw0ms
I\ &1D.

a) A lnMHmILd R @uevor(id &ifl, Inmmild R eTedaTLIG A @) 6ot Fifliment eflemdasLnmEGLD.

b) A LnMMILD R @ Tevor(hild &Fifl, 24L60TMeV R eTedTLIG A @) 6dT Fiflulment eXlemdasin 3{6v6v.

o) A &1fl, 91,60Tmev R HeUm.

d) A Heumi, o606 R &Ffl.

38. Consider the following statements:
1. Tamil Nadu’s annual rainfall shows a clear downward trend.
2. Northeastern coastal districts like Mayiladuthurai face elevated climate risks.
3. The state’s renewable energy capacity is the highest in India.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only
L 6dTeU(BLD SaM MIGEMEIT 86601886 LD:
S0P BT Lg60T 94,600T(H) LenpLIAUMSe] Qg erfleumeT Genmey CUMGEMES STLHISMSI.
LWlevm@ gienm CLITETM QUL E HLMEEMIT LOMEUL L MBIG6T 2 WIHS LIIHEUBIem6V LI & 606
6T B\ TG\ & IT6IT S\ 60T M 60T
LMBleVsHer UsILINESS5685 L,MHMeL Hmeir @ HHwmellev & H&LD.
CLOM&600TL. Fa M MIG6TTl6L eTemeu &Il WITeuTem6U?

a) 1 MM 2 L (HILD b) 2 LoMmib 3 LG o) 1wL@LD d) 1 iommith 2 ()LD
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39. Assertion (A): Tamil Nadu’s climate adaptation strategies include sustainable water
management.

Reason (R): The state promotes micro-irrigation and flood control measures.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

gammi (A): SLOLDHTLLG6T LIgheumlemeu &M 2863 &6rfl6v Blemeuwlmeot BT GLOEVITEUITENLD L MIGLD.
&TIeuorld (R): SLALDHTE 5I6UoT6uo! [FLILITEF60TLD oM MILD QleueiTend SLBLULTLH HL 6L 601586061
215 GeN&HR M.

a) A LnMmILd R @esor(d &ifl, InHmih R eTedTLIG A @)6dT S iflulmeot eleng: &M@ LD.

b) A LnMHMID R @ Tesor(GID &Fifl, u,60TmMev R eTadTLIG A @)6dT &iflulment eNlemg:asLh 606v.

o) A &1fl, 9L60TmeL R Seumi.

d) A Seumi, SLeoTmev R &Fifl.

40. Consider the following statements:
1. Tamil Nadu’s tree cover increased to 5,370 sq. km in 2023.
2. The state’s thermal power plants are significant contributors to GHG emissions.
3. The Western Ghats exhibit high vulnerability to climate change.
Which of the above statements is/are correct?
a) 1 and 2 only b) 2 and 3 only c) 1 only d) 1 and 2 only
LS etTeU(BLD FaM MG 6MEIT 8660188 6]LD:
SLO|LDIBITL L9607 Lo MmIgerfledr LIFLIL] 2023 4Lh 31,600TL9.6V 5,370 &5IT &.18 91,8 2 W HS S).
LOMEleVE B 60T {60T6V LAIEOT [H]6M6VLLIMIG 6T LIS6MLD @) 6V6V 6umu 2 LOLheY &G &6uuTl&FINms:
LI & 6rfl 8 B) 60T M 6oT.
CLMGSH QSTLIFHF DMV 6T LI(HeUBlemev LDMTMHMSHMES 2-W T LITGILIL] Q& TeUoTL6mel.
CLOM&600TL. FaM MG 6rfl6L eTemeu &l WITeoTemeu?

a) 1 LmmILD 2 L (HILD b) 2 LMMID 3 LG ¢ 1wL@L d) 1 mmih 2 ()LD

41. Which of the following is NOT a part of Tamil Development initiatives?
a) Translation of 500 books to English over 5 years

b) Digitization of ancient Tamil palm-leaf manuscripts

¢) Construction of Kalaignar Kanavu Illam houses

d) World Tamil Olympiad

L etreu(peusoreumnlev eTg SLAlp CLLUTL® (WWMHE SefleT 6 (h LGS WTe @ 6ueneu?

a) 5 4,600T(H G616V 500 L|GH S5 MIG6T MmIFeVEHH 6L QLmNELWIFLL]

b) LIpemDWITeT SLALD emevEFaallq Gerfledr 198311 L6V DWILDTESH 6D
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) HEMBVEHT FHeuTe) @ 6Vev iR &efer &L (HLDMeorLd

d) 2_evs SLALD el LNwImL

42, Assertion (A): 150 crore is allocated for renovating 17 heritage buildings.
Reason (R): The renovation focuses on temples over 1,000 years old.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): 17 umybUflw &1L MBI&SeM6T LjeTFenlnlILSM @& 150 CaHITL &515&LLIL (h6Teng.
STl (R): LjeoTFemloLiL] 1,000 o4,600T(h & @55 & GLO6V LIDEMLOWITor G& U6V & 606 6MLOWINMTS S
Q& TevoTLSl.

a) A LnMmILD R @resor(d &ifl, inmmith R eTedTLIG A @6oT &iflwimet elemgsssin.

b) A LDMHMILD R @evor(hild &Fifl, 9L60TMeL R eTedTLIG A @) 60T SFifliment ellemd: LD @) 606m6v.

o) A &1fl, 9L,60TIT6V R Seuml.

d) A Seumi, SLeoTmev R &Fifl.

43. Match the following:
Initiative Allocation

A. Tamil Diaspora Education 1. %2 crore
B. Digitization of manuscripts 2. %10 crore
C. Book Translations 3. %133 lakh
D. Thiruvalluvar Translation Projects 4. %10 crore
L9 6dr6u (I 6ueTTEU MHEMMLI QILIMTIHS &18:

WLwHe 251580
A. 81D e Quw seuedl 1.32 C&HIMLY
B. 606V F 6L & 6rfletr 1951 L6V LLWINMHH  2.310 GHITLY
C. U555 QUmEQUWTLIL 3.%133 L&D
D. B peueTEbeul QULMPIQUWITLIL GLLBIG6T 4.310 CHITLY
a) A-2, B-1, C-4, D-3 b) A-4, B-1, C-2, D-3
c) A-2, B-4, C-1, D-3 d) A-1, B-2, C-3, D-4

43. Which of these museums is proposed to be established in Ramanathapuram district?
a) Noyyal Museum b) Naavaai Museum

c) Agaram Museum of Languages d) Indus Valley Cultural Gallery
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LS etTeu(BLD |(HMIS T WS K STl 615 FITOBTSL LD MeUl LSS 6V MlmieuliLIL 2 6Tergi?
a) QBTG S(HBEISTL GG b) BT S|BHIGTLF WD

0) 9I&TID QTPSHET S(BHEIGTL U0 d) Ah g FG 66l Heumgdsmy ST FWsLD

45. Which of the following is the odd one out?

a) Chennai-Villupuram Semi-High-Speed Rail b) Chennai-Vellore Semi-High-Speed Rail
c) Coimbatore-Salem Semi-High-Speed Rail d) Ring Main Pipeline Project for Chennai
L9l 6dT6u (B 6u6OTEUM M6V 6TSHI LOMMILIL L &I1?

a) QFaTemeT-all (W LILTD SemT-2 WF-Ceus Juilev b) Q&F6Tem60T-CoUaT i6m -2 WF-Ceuds Fuilev

¢) GHEMTWIbLSSTT-CF6UlD SiemT-2 W T-Ceuds Tuiley d) QFGTENETE & aUEmETL (LNGETEnLD GLOMU S L LD

46. Consider the following statements about the Tamil Nadu Semiconductor Mission-2030:
1. It has an allocation of ¥I500 crore over five years.

2. It includes setting up a Semiconductor Fabless Lab in Chennai.

3. It focuses only on Coimbatore for semiconductor parks.

Which of the statements are correct?

a) 1 and 2 b) 2 and 3 c)1and 3 d1,2,and 3
SOILBTOH QFWE&eTLE LT 18l6a9.60r-2030 LMW LI6iTeuBLD FaM MG 6MET &6U6ul& & a]Lh:

1. @5MS 5 THHEHSHEGS T500 CHITLY 62515 &LILIL(HETeTgl.

2. @8 QFaTemeruiley QFLEGETLS LT SCLILIG6V6N SyUlaUssID SeMLILIENS 2 6TeTL &S W gl.

3. @5 OFHIGEITLGLT LLEISTSESEF85E C&HTWDLSSTnT L GG enWIDTSS 6 & TevorL Sl
LetTeu(pLh Fam migerfleL eTemeu &flWITeuTemEU?

a) 1 LoMmmILD 2 b) 2 oMM 3 0 1 mmID 3 d) 1,2, InMmoiLh 3

47. What is the total investment for the Pumped Storage Projects in Vellimalai and Aliyar
areas?

a) 23,450 crore b) 11,721 crore ¢) 32,000 crore d) 24,000 crore
Qeueiterflloemev LOMMILD LW L& B &erflev 2_6Tem LIDLIG euCLMTCTR G L MG EH& & Ter QNS
Ws65® eTeueueTey?

a) 33,450 G&ITLq b) 11,721 G&TLY. ¢) 32,000 GBSy d) 4,000 G&MTLY

48. Which of the following pairs is correctly matched?

a) Kalaignar Kanavu Illam - 32,000 crore b) Waste-to-Energy Plant — Kodungaiyur
c¢) Tidel Park — Ramanathapuram d) Noyyal Museum — Chennai

etreu(pld Ggmigserfley ergl FlWmsl QUTHSSLILIL (B 6iTemg?

a) HEMEVEH S:60T6) @) 6v6eVLD — ¥2,000 BG&ITLY b) &la-L6TETT 21,6m6V — Q& MT(H MBI & WL

C) MLL6V LIMH& — JTLNBTSL|FLD d) QBTUIWE SBHBISGTLFIUSHLD — O & 60T6m 60T
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49. Assertion (A): The ‘Naan Mudhalvan-Kalloori Kanavu’ program aims to increase higher
education awareness.

Reason (R): It focuses on upgrading high schools to higher secondary schools in remote
hilly regions.

a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.

c) A is true, but R is false.

d) A is false, but R is true.

Fami (A): ‘[HIT6T (NS eVeu6iT-&euunfl &HeoTey’ HIL LD 2 wisevedl eNlfiLiLjeooTTemeu 3B &85
CHMT&HSHIMNSGES G &HTEuoTL Sl.

&TIewrd (R): @5 QS MameuSTT eneuLILIGH S&erflev 2 wiFmlemeull LiaTerfleemer GoeuBlemeull LieTe &6 mss
CuLUMBSSI6UMS MO WINTSH S Q& Te0oTL Sl.

a) A LommILd R @uesor(md &ifl, (nmmild R eTadTLIG A @607 Fifludmest ellemgsssLn.

b) A LnMMmILD R @evor(hd &Fifl, 3L60TTeL R eTedTLIG A @) 60T SFIflimenr elemd:a1D @)6V6n6v.

o) A &ifl, 9L60TIT6V R Seuml.

d) A Beumi, apeormev R &ifl.

50. Which of the following is NOT a part of the Green Energy & Climate Change
initiatives?

a) Pumped Storage Projects b) Battery Energy Storage System

c) Hosur Knowledge Corridor d) Blue Flag certification for beaches

L9l edT6eu (B 6ueoTEUM N6V 6T LIG6mLID 4 MMV oM MILD LIHeUBlemev LOMMHM (PW M SGerfletr LGS Wms @) 60emeu?
a) LD 6vCLMEIY HIL_L MIG6IT b) GULLIfl @ummev G&LALIL| SjemLnLiL]

0 @G&T M6y FrJ eSS LD d) BLMHHTHEDHEHSHTET Hevs Q&ML &FrermlHLh

51. How many new Government ITIs are proposed with hostel facilities?
N (HB) uEFD S EHL 6T 6155 emeur L|GW 3J& QST bHLUNME Blmieusrmger (ITls) S LS LUl G eTereor?
a) 10 b) 7 c) 17 d) 3

52. Which of the following statements is true about the Women Welfare initiatives?

1. Formation of 10,000 new Self-Help Groups (SHGs).

2. ¥37,000 crore bank loans target for SHGs.

3. ‘Thozhi’ hostels in 5 locations.

a) 1 and 2 b) 2 and 3 c)1land 3 d1,2,and 3
QUIGUITS 6T HeV (PWMAS6T LmHMlw LKeTaubLd Fammserley ergl &ifl?

1. 10,000 4B W &Fw 2 56 & W& 56T (SHGs) 2 (Heums&1n.

2. SHG-Z@H&E T37,000 C&ITLY 6UMITE &L 6OTSE 6T ©)6V5S.
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3. 5 @Lmseaflev ‘Caml’ aH B &e6lT.

a) 1 mmiLd 2 b) 2 LoHMILD 3

53. Find the odd one out:

a) Advanced pump motor manufacturing in Coimbatore

c) Bioscience park near Chennai

¢ 1 Wmmib 3

b) Foundry in Coimbatore

d) Mini-Tidel Park in Virudhunagar

L9l 6dT6u (B 6u6OTEUM M6V (I LOMMILIL L 6MG & &6vorLille]LD:

a) GamwIbLSaMlev GbLL L LU GUITLLTF 2 MUSEH

c) QFaTener HGCsH 2 Wil onfleflwicy L,mbigsT

54. Match the following:
Project
A. Semiconductor Fabless Lab
B. MMF and Technical Textiles Park
C. Tidel Park

b) G&ETWILS ST 2 (HEE 2606V
d) ellpaiBsflev Wesfl-emL_L6v L&

Location
1. Thoothukudi
2. Chennai

3. Hosur

d) 1,2, oo 3

D. Footwear Parks 4. Multiple districts

L9l 6Teu (H 6u 6OTEUMH MM LI QLIMTIHE S18:

SILLLb @LLb
A. QFOG&ITLELT SCLLIQ6V6N 4 lliassLD 1. B15 518G
B. MMF Lommith Qg mSleumIL LI 26y erfl L, Mg 2. Q& 6iTemI60T
C. 60IL L6V LIMJ& 3.90&0

D. &IT6V6v0T LI, M1 & T8 & 6iT 4. U6v LOMaUL L1 6rflev

a) A-2, B-1, C-3, D-4
b) A-1, B-2, C-4, D-3
c) A-3, B-4, C-1, D-2
d) A-4, B-3, C-2, D-1

55. What is the purpose of the Z50 crore allocation for the Marine Resource Foundation?
a) To promote classical Tamil culture b) To support environmental initiatives
c) To develop industrial parks d) To provide educational loans

&6V 6U6IT JIME &L L606TE S T50 CHITL 515G 19.60T GHTEH LD 6T60T6Ur?

b) FHMIEF G WWHF ST 515560

d) 6065 55 L_60T5:6M6IT QUL IBIE S5 60

a) QFalalwe sLAD HTESFTISHMS G LG S SIS0

0) QBTN MLLIBIGTE G606 2_(TH6UTE G556V
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56. Which of the following initiatives is aimed at Differently Abled Welfare?
a) 32,000 monthly wage subsidy for firms employing differently abled persons
b) %10 crore for heritage mosques and dargahs
¢) 350,000 incentive for civil services candidates
d) Breakfast scheme expansion for schools
Netreu(pLd Wb &erflev eTgl oMM Mg G meormerfl HELENIGHTE 2 (HeUTHSLILILL GI?
a) LDMMH MGG M6t merfl&HemeT GaUemevs: @& DTS SID Bl MI6I6T kIS E6 & E LOMSLD 32,000 26m&) Wi LomeofluwLh
b) urguflw LeTefleumFeu&6T IDMHMID HFHTEHSEHEHSG I10 GSIMI
¢) Gl9eminLl Lievof] Geul_ LIMeTI&Eh&E 50,000 26188565 Ten 5

d) LeTerfl&EmaameT Smemey 2 et HLU_L elliflelmsgssn

57. Consider the following statements about the Welfare of Marginalized Communities:
. Annal Ambedkar Overseas Higher Education Assistance Scheme has 365 crore
allocation.
. ‘Nannilam’ scheme focuses on women’s land ownership.
. Monthly scholarships are extended only to tribal students.
Which of the statements are correct?
a) 1 and 2 b) 2 and 3 c)1land 3 d1,2,and 3
RSI&SLILLL Fensmigertler mHevedr LMW LN6iTeu LD Fu M MISHeM6IT &6uU6ul18 86 Lh:
1. S|6v0TeUOT6L SOCLISSHT QeueBIL(p 2 wiFseval 2 565 HLLSEFH MG T65 CHITL 515G MH 2-6TeTs.
2. ‘etrenfleud’ GBI LD QLIevorserfledr mlev 2 1flemnem W 6MOWIDTSH S @ &ITEUoTL Sl.
3. LMEMTHHT 256505 Ten&GHSH6T LILPMEIGLY LOMeuiTeUJ&H @68 @ L GG eflifleunmd s UL (b eiTermeor.
LetTeu(pLh Fam migerfleL eTemeu &FiflWITeTemEU?

a) 1 lnMmHmiLd 2 b) 2 LnMHmIth 3 ¢ 1wmmin 3 d) 1,2 mmin 3

58. What is the allocation for upgrading conventional powerlooms under Handlooms &
Textiles?

a) %10 crore b) X15 crore c¢) ¥50 crore d) X125 crore
&5 5N MM Leyeflssiemmuiler S LTFLURW U VTb&EeeT CLLUGSSIUSNES RSI1&H&HLILILL
QBTG 6T6UU6TE?

a) 10 G&MIg b) ¥15 G&ITLY ¢) 350 G&ITIq d) %125 G&Imy

59. Assertion (A): The Breakfast Scheme Expansion includes Government-aided schools.
Reason (R): It will benefit 3.14 lakh additional students.
a) Both A and R are true, and R is the correct explanation of A.

b) Both A and R are true, but R is not the correct explanation of A.
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c) A is true, but R is false.

d) A is false, but R is true.

Fammi (A): &Temev 2 6uoTe] G L eflifleungasih s 2 g6l QUMILD Li6Terlgemen 2 66L& 6w i
&TIewrd (R): @5 SaBSH6VMS 3.14 UL FLD LOT6UOTEUIT S €158 (& LIl eorerfl& &L,

a) A LnMmILD R @esor(d &ifl, tnmmih R eTadTLIG A @6oT &Fiflwimet eNlemgsssin.

b) A LDMHMID R @Tevor(HID FIfl, 21,6076V R eT6dTLIGI A @)6dT &Fiflwiment ellemsasLD ) 6L6m6V.

o) A &1fl, 9L60TIM6V R Seuml.

d) A Seumi, gLeoTmev R &Fifl.

60. Which of the following is NOT a part of the Disaster Management initiatives?

a) Heat Wave Management for 11 cities

b) Tamil Nadu State Institute of Disaster Management

¢) Greater Flamingo Sanctuary at Dhanushkodi

d) Action plans for disaster preparedness

L etreu(peusoreumnilev eTgl GUIFILIT GLo6uMeuoTemln (WM F S e6rfledr LGS WS B)6V6em6eu?
a) 11 BHJMHIGHEHHEG GaULlL 3606V GLOEVITEIOTEDLN

b) sALBI@H WrBlev CUlLT GLO6VTEsTemLD Bl mI66oTh

0) 5169CsHMq Uiy QuUflw LNemABIGST & 6o meuulLD

d) GUIILT SWMTTBleneV&HSHTeT Q&L HL L MHIS6T

Answer Key

1-A
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